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Test 12
You have 10 minutes to complete this test. 'I’%'\‘
10 questions t . ] : @
L//y:,:nr—\:e questions to complete within the given time. ‘\..,,I' 4
P X
circle the letter next to the correct answer.
/

@ Figure A shows a fraction of a full circle.

Figure A

Which of the following is equivalent to this fraction?

r A B C D

L 45% 72.5% 62.5% 90%

]
70% J

Three number cards are shown below.

foinio

Which of these statements is FALSE?
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i a factor of both 28 and 327
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36 cm?
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7 @ g pillows cost £128. What is the cost of 20 pillows?

A B C
£300 £150 £30

£16 £320 J

The table below shows the number of trees in different parks in a city.
L e

Park
_F__?f_r_k_‘lf ark 2 Park 3 Park 4 Park 5 Park 6 Park 7

43 i3 69 48
e 111 102 118

What is the median of the number of trees?

e A B

. C D E ]
R 69 13 111 102 )

(8 What s 30% of 2807

A B C D E

)
84 28 56 24 70 J

If at least two angles of Triangle A measure 60°, what type of triangle is Triangle A?

i~ )
A Right-angled

Equilateral

Scalene

Isosceles

m|O|0O|®

None of the above




